
No. Part no. Description Qty

Right door(一）weldment

Right door(一） air duct weldment

Flange bolt M6*12

Flange nut M8

Door lock assy.

Flange bolt  M6*12

Oil -water separator assy.

Fuel inlet pipe(一)of fuel tank 

Fuel pipe clip

Fuel inlet pipe(二）of fuel tank

Right central pillar assy.

Flange bolt M16*40

Flat washer 16
Spring washer 16

Flange nut M16

Right door(二）weldment

Organic glass of right door (二）perspective window

No. Part no. Description
Right door(二）air duct weldment

Insulated cover of battery

Press plate weldment of battery

Pulling plug of press plate

Battery

Batterfly nut M6

Outlet pipe of water tank

Fuel drained pipe of fuel tank

Welding part of water drainage &oil drain  seat

Chassis weldment assy.

Chassis cover plate(一）

Damping block
Alternator assy.

Flat washer 10

Spring washer 10

Flange nut M10

Engine assy.

Qty No. Part no. Description
Pipe clip 25-38

Inlet pipe of water tank

Pipe clip 35-51

Flange bolt M10*12

Wire fixed bracket weldment

Pipe clip 25-38

Chassis cover plate(二）

Oil drain rubber pipe

Outlet pipe(二）of air cleaner
Pipe clip 51-70

Air cleaner assy.

Outlet pipe (一）of air cleaner

Air cleaner fixed plate

Antifreeze pot

Water bottle fixed plate

Outlet pipe gasket

Fan belt shield bracket part

Qty No. Part no. Description

Flange bolt M8*25
Exhaust pipe(一）weldment

Washer

Hinge 2.5

Rubber gasket of battery

Minitype replay

Preheated replay

Flange bolt M5*14

Charging regulator

Circuit breaker

Flange bolt M5*20

AVR

Control module

Panel weldment

Fuese box

Potentiometer

Ignition switch

Electric mounting plate weldment

Muffler(二）weldment

Muffler (一）weldment

Cover plate weldment of water tank

Fuel tank cover

Return oil pipe(一）

Oil filler filter strainer

Hinge(三）weldment

Waterproof cover

Return oil pipe(二） Door lock

Emergency button

Nut M6

Fuel tank assy.

Output plate assy.

Flange bolt M6*20

Inlet pipe of air cleaner

QtyDescription

Hinger(一）weldment

Left central pillar assy.

Left door(二）weldment

Left door(二）air duct weldment

Left door(一）weldment

Top cover welding assy.

Part no.

Organic glass of top cover perspective window

No.
Four circuit fuse box

QtyDescription
Synthetic glass of instrument door

Select switch of filling pump

Display
Display location assy.

Power light

Part no.No.QtyDescription

Fuel inlet pipe of fuel tank(三）

Electric fuel delivery pump I

Fuel delivery pipe(一）of fuel tank

Fuel delivery pipe(二）of fuel tank

Instrument door weldment

Cover plate of front wall
Cover plate of connection box

Output plate of receptacle

Front wall assembly weldment

Top cover plate weldment of front wall

Fuel tank baffle

Fuel tank splint assembly weldment

Part no.No.

Clapboard assembly weldment of water tank

Rear side plate weldment

Outlet pipe of water tank

Damping block of water tank

Radiator assy.

Overflow pipe of water tank
Fixed bracket weldment of water tank cover plate

Mounting plate of water tank cover plate

Exhaust pipe (二）weldment

Connection board

Bicircle pipe card(一）

Qty No. Part no. Description

Bicircle pipe board(二）

Flange nut M8
Cover plate weldment of rear wall

Cover plate of water tank port

Top cover plate weldment of rear wall

Rear wall assembly weldment

Fixed metal strip weldment of fuel tank

Rubber gasket of oil level indicator

Oil level indicator

Oil scale pipe

Qty

KDE13SS3 PARTS DRAWINGS


	Model

